HSC 2002 - Classical Greek Extension

Marks
Question 1 (continued)

(b) Read the extract, then answer the questions that follow.

"UNKETL VOV W €pEBLLE, YEPOV" VOE® dE KOl 0VTOGC

“Extopd to1 Abcor: Atdfev 8¢ pot dyyelog NAOe

unp, N W €texev, Buydnp GALOL0 YEPOVTOS

Kol 8¢ o€ yiyvookw, [pioue, opeciv, oVSE pe ANnbelc,

8111 BV Tig 6 fiye Bodig £ml vijag Ay oldv.

0V Ydp ke TAain Bpotog EABEUEY, 0VOE LAA NPV,

€G 0TPOTOV" OVOE Yap GV GLAOKOVG AdBOoL, 0VOE K’
oxno

pelo petoyAocele Bupdmv NUETEPAMV.

T® VOV U1 Mol LAAAOV €V GAYEGT BUUOV Oplvig,

un o€, YEPOV, 0VS’ AVTOV €Vl KALGINoLY £0.6®

KOl LKETNV TTEP €6VT0, AL0G & GAlTONOL £0ETUAC."

(i) Translate the extract into ENGLISH. 10
(i) Account for Achilles’ sudden change of mood at this point. 2

(iii) Discuss the significance of 1k€tnyv in the context of this extract. 4

End of Question 1
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